Example	Version 3.0
assessing progress and status
Project Progress for Period Ending:		07-Jun-03	

	
	Last Week
	This Week

	
	Baseline
	Actual
	Baseline
	Scheduled

	Work (Hours)
	
	
	
	

	Project Overhead
	26 h
	12 h
	26 h
	26 h

	Project Activities
	44.4 h
	41 h
	62.97 h
	51.37 h

	[bookmark: _GoBack]Total
	70.4 h
	53 h
	88.97 h
	77.37 h

	Cost (Dollars)
	
	
	
	

	Project Overhead
	$ 3,190.00
	$ 1,525.00
	$ 3,190.00
	$ 3,190.00

	Project Activities
	$ 5,448.00
	$ 5,045.00
	$ 7,491.20
	$6,034.20

	Total
	$ 8,638.00
	$ 6,570.00
	$ 10,681.20
	$ 9,224.20

	Scope (Number of Activities)

	Started or
to start
	6
	7
	2
	1

	Worked on or
planned to work on
	6
	7
	6
	7

	Completed or
to complete
	2
	1
	1
	2




What is the status of the project?

	
	Early/Under ()
	On plan ()
	Late/Over ()

	Time
	
	
	

	Cost
	
	
	

	Scope
	
	?
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What work is scheduled for the 2nd week (June 8 – 14)?

	ID
	Name
	Critical?
(Yes/No)
	To Complete
This Week?
	Planned Hours
This Week

	12
	Gather info for go / no go decision
	No
	Yes
	19 h

	13
	Prepare product screening stage presentation
	No
	No
	2.17 h

	18
	Develop investigation plan
	Yes
	Yes
	1 h

	19
	Evaluate the market
	No
	No
	4.2 h

	20
	Analyze the competition
	No
	No
	0 h

	22
	Produce the lab scale product
	Yes
	No
	25 h



	How many activities appear under-estimated?
	1

	How many activities appear over-estimated?
	3



	Is it relevant that Activity 22 started before Activity 18 finished?  Why or why not?

	The dependency between Activities 18 and 22 no longer seems correct.  It may be that Activity 18 must finish before Activity 22 can finish, in which case the Finish-to-Start dependency could be replaced with a Finish-to-Finish relationship.  Or, the dependency might be deleted altogether if the activities can be performed independent of one another.
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